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Cluster: 0064 ptr; resid: 0.31; r/c: 32/62

x.range

upstream meme PSSM #1; e=77

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+04

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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13395

25495

4821

7562

12267
12294

12451

16698

23077

33480

33631

36095

38475

38518

39079

39127

3957840967

43720

4406344507

44952

45522

46668

47113

47585

49037

49876
49987

50625

54577

6528

string −500 −400 −300 −200 −100 −1
47113−0.06
44063−0.06
23077−0.07
33480−0.09
40967−0.12
39079−0.15
45522−0.17
49037−0.18
33631−0.29
54577−0.33
38518−0.37
49987−0.42
36095−0.53
44952−0.54
12451−0.55
12267−0.65

7562−0.80
4821−1.23

12294−1.64
46668−1.73
49876−1.85
47585−1.85
50625−1.90
25495−2.16

6528−2.42
39127−2.47
38475−2.88
43720−3.95
16698−8.22
13395−8.58
44507−9.00
39578−9.13

log10(P) upstream meme1 2 log10(P.clust)=−2.01; 32 seqs; 32 uniq
c(0.5, 2.5)
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